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11.5 Law of Sines

Period:

Practice

Indicate whether the given measurements result in no triangles, one triangle, or two
triangles. Solve the resulting triangle. Round your answer to the nearest hundredth.

£ 1) B=22°b =16.8,a = 22.42 Acute

2) B=96%b =3,a = 24

S ZTH'cmg(es 0.8 <2244
(D smar’ , smA C=190°-22°—
- (.2 ~ 2242 29.99°
A: sln" z'l‘.(pﬂ?.;\h'l‘)-’) ‘C = ‘26-0’0\
= ' 6tn27_°=sln|2s.o»'
Ej————’(—jp“ 13.79 e e
(2 A= 1e0-29.99° s,(m el
C=180-22~ [S0-01= it
3) B= 49°b—9a—7 Acutes A A 4) B=64°A=64°a=38
+ > ]
S\ﬂl"'g ) SInA
=

SIN95. 90 _ sm%e

c,g’< =/ =4
c = 2BIngsoe | ((.3D
sin4 9

= |20 —49 —35,.94°
\G‘ = 95.00° i

1?‘_”_"_@~ SinA

A=A (‘1sm\+9
= 35,94°

Use the Law of Sines. Find the measure of x to the nearest tenth.
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9) A hot-air balloon is observed from two pints, A and B, on the ground
800 ft apart as shown in the diagram. The angle of elevation of the
balloon is 65° from point A and 37° from point B. Find the distance
from point A to the balloon.
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10) Two searchlights on the shore of a lake are located
3020 yd apart as shown in the diagram. A ship in
distress is spotted from each searchlight. The beam
from the first searchlight makes an angle of 38° with
the baseline. The beam from the second light makes an
angle of 57° with the baseline. Find the ship’s distance
from each searchlight. &
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In AABC,m+A = 25° and m«B = 50°. Find each value to the nearest tenth.

2 11) Find AC for BC = 6.2 in. 12) Find BC for AC = 14.9 cm.
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Verify the following identities.
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